DIvISION WITH A REMAINDER II (H - SET 2)

brvision Name:
Time: Score: A
07280 =10 = 16 96347 = 10 =
2 4036 =+ 10 = 1 9+2=
5 9391 =5 = 18) 27482 =7 =
19 3032 +5 = 1) 1032 +2 =
5 39396 = 5 = 200 64191 =9 =
6 16518 =2 = 2 3298 =+ 10 =
N 13462 =9 = 22) H276 + 10 =
5 1538 +3 = 2) 3227 +5 =
9 48335 -6 = ) 2791 =5 =
10) 46554 + 7 = ) 920 +1=
3699 + 10 = 2) 33650+ 1=
12) 7139 + 10 = 1) 59289 -6 =
13) T4+ 5= 25 39830 =+ 10 =
1) 4843 + 5 = 200 17775 + 3 =
15 10881 -4 = 30 38785 + 5 =
Mathematics: Division - Level § - Horizontal - Set 2 2% cul
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